| FECONALNONTAGEAMLEITUNG £ indhiduele Anschrane
1= TEGON

ENCLOSURE ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO. FX-M-002
REV. NO. 01
DATE 03/2021

FE-GON-XL
| FE-GON-XL MONTAGEANLEITUNG firndiiduele rviscinie |

FE-GON-XL ASSEMBLING INSTRUCTION for individual baying enclosures

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 1



J —|—|:I/—~ —~ FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke

U FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO. FX-M-002
REV. NO. 01
DATE 03/2021
SEITENINDEX / PAGE INDEX
LIEFERUMFANG 4
PACKAGE CONTENTS
) SOCKEL / SOCKELECKEN MONTAGE 5
BASE / PLINTH CORNER PARTS ASSEMBLING
) SOCKEL BODENGRUPPE MONTAGE 6
BASE BOTTOM-GROUP ASSEMBLING
} SOCKEL FRONT- und SEITENBLENDEN MONTAGE 7
BASE / PLINTH FRONT COVERS and SIDE COVERS ASSEMBLING
) DACHHAUBE MONTAGE 8
TOP COVER ASSEMBLING
) MONTAGEPLATTE MONTAGE 9-14
MOUNTING PLATE ASSEMBLING
- MONTAGEPLATTE KURZ MONTAGE 15
SHORT MOUNTING PLATE ASSEMBLING
) RUCKWAND MONTAGE 16
REAR PANEL ASSEMBLING
} TUR RICHTUNGSWECHSEL 17
DOOR CHANGE DIRECTION
- SEITENWAND MONTAGE 18
SIDE PANEL ASSEMBLING
) ANREIH-VERBINDUNGSSET 19-23
BAYING KIT
ZUBEHOR / ACCESORIES
} NIVELLIERFUR 24
LEVELING FEET
) KABELABFANGSCHIENE o4
CABLE CLAMP RAIL
) MOOSGUMMI KABELEINFUHRUNG 25
FOAM CABLE ENTRY
) BURSTEN KABELEINFUHRUNG 25
BRUSHED CABLE ENTRY
) ANREIH-ZWISCHENMONATGEPLATTE 26
INTERMEDIATE MOUNTING PLATE
) KABELTRAVERSE fiir TUR 27
CABLE TRAY DOOR RAIL
} SCHALTPLANTASCHE 27
PLAN POCKET
) LAMPENSCHIENE und LAMPE o8

LAMP HOLDER RAIL and LAMP

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL



;-:‘ | [ (--~ (.--\i\l FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
I

TURSCHALTER und HALTEWINKEL
DOOR SWITCH and SWITCH BRACKET

TRAVERSENWINKEL STANDARD und INNENTRAVERSEN
RAIL BRACKET STANDARD and SCISSILE RAIL SYSTEM
TRAVERSENWINKEL STANDARD

RAIL BRACKET STANDARD

TRAVERSENWINKEL QUERVERSTELLBAR "TYPE T"
ADJUSTABLE RAIL BRACKET "TYPE T"

TRAVERSENWINKEL TIEFENVERSTELLBAR "TYP L"
ADJUSTABLE RAIL BRACKET "TYPE L"

SCHWERLASTRAVERSE
HEAVY EQUIPMENT PROFILE

SCHOTTWAND
DIVIDING PANEL

TEILMONTAGEPLATTE
PARTIAL MOUNTING PLATE

19” PROFILTRAVERSEN
19” COMBINATION PROFILES

19” SCHWENKRAHMEN
19” SWING FRAME

FACHBODEN und SCHUBLADE
FIXED and MOVABLE SHELF

TURSTOPPER
DOOR STOPPER

HEBE- und LASTANLEITUNG
LIFTING- and LOADING INSTRUCTION

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO. FX-M-002

REV. NO. 01

DATE

03/2021

29

32

30-31

32

33

34

35

36

37-38

39

40

41

42-43

FE-GON-XL

3



3 TFF-"(H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
; NS FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
LIEFERUMFANG REV. NO 01
PACKAGE CONTENTS DATE 03/2021
H : RUCKWAND C : MONTAGEPLATTE /
REAR PANEL (1 PCS.) MOUNTING PLATE (1 PCS.)

| : SEITENWANDE /
SIDE PANELS (2 PCS.)

gB - VERTIKALE RAHMEN /
VERTICAL FRAME GRUOP
(4 PCS.)

A : DACH- BODEN-
GRUPPE /

TOP / BOTTOM GROUP
(1 PCS.))

G : TUR VORNE /
SOLID FRONT DOOR (1 PCS))

E: SOCKELBLENDEN VORN /
. PLINTH FRONT COVERS
(2 PCS.)

F : SOCKELBLENDEN SEITEN /
PLINTH SIDE COVERS
(2 PCS))

D : SOCKELECKEN / PLINTH
CORNER PART (4 PCS.))

HINWEIS: LIEFERUMFANG KANN JE NACH BESTELLTEM TYP VARIIEREN
NOTE: PACKAGE CONTENT MAY VARY DEPENDING ON ORDERED TYPE

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 4



3 TFF-"(H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
; NS FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
SOCKEL / SOCKELECKEN MONTAGE REV. NO o1
BASE / PLINTH CORNER PARTS ASSEMBLING DATE 03/2021

:Q»' 1) M8x16 4 Pcs.

% 2) M8 4 pCS.
@5 3) M12 4 PCS.

4) M12 4 PCS.

W 5) M12x30 4 PCS.
@ 6) M6 8 PCS.

@ 7) M8 4 PCS.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 5



E TFF-"(H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
; NS FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
SOCKEL BODENGRUPPE MONTAGE REV. NO o1
BASE / BOTTOM-GROUP ASSEMBLING DATE 03/2021

@ 1) M18 4 PCS.

2) M12 4 PCS.

@ 3) M12x30 4 PCS.
@ 4) M6 8 PCS.

@ 5) M8 4 PCS.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 6



3 —H_—(-—-. (H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke

_\E_y\_J

SOCKEL FRONT- und SEITENBLENDEN MONTAGE
BASE / PLINTH FRONT COVERS and SIDE COVERS ASSEMBLING

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

&

FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO

FX-M-002

REV. NO

01

DATE

03/2021

1) M5x10 12 Pcs.

FE-GON-XL

e




'E TEGON FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschrénke
- NS FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DACHHAUBE MONTAGE
TOP COVER ASSEMBLING

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

DOC. NO

FX-M-002

REV. NO

01

DATE

03/2021

o
“@) )M12 4 Pes.
&/

2) M12 4 Pcs.

FE-GON-XL

8




E TF(-—-.I(H\IN FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
et FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
MONTAGEPLATTE MONTAGE REV. NO 01
MOUNTING PLATE ASSEMBLING DATE 03/2021

HINWEIS: MONTAGETEILE WERDEN SEPARAT IN ORANGENEM KARTON GELIEFERT
NOTE: ASSEMBLING PARTS PACKED AND DELIVERED SEPERATELY IN ORANGE BOX

Y

ReBePeNeieie)

=S LtEmsEnnEn &m‘li

1) 2 Pcs.

2) M8x12 2 Pcs.

Y

B i £ ™~
WL RGN
&
S

4) M5x10 6 Pcs. ST

e

5) M5 6 Pcs.

—rr=rr—"7—
TeiTelTelTs

ST LN

Pt

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 9



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschréanke

' ] —H:( -](-JN FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
MONTAGEPLATTE MONTAGE REV. NO 01
MOUNTING PLATE ASSEMBLING DATE 03/2021

HINWEIS: MONTAGETEILE WERDEN SEPARAT IN ORANGENEM KARTON GELIEFERT
NOTE: ASSEMBLING PARTS PACKED AND DELIVERED SEPERATELY IN ORANGE BOX

1) 1 Pcs.

L]

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 10




E —H:(-—-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
Tt FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
MONTAGEPLATTE MONTAGE REV. NO 01
MOUNTING PLATE ASSEMBLING DATE 03/2021

HINWEIS: MONTAGETEILE WERDEN SEPARAT IN ORANGENEM KARTON GELIEFERT
NOTE: ASSEMBLING PARTS PACKED AND DELIVERED SEPERATELY IN ORANGE BOX

N—L Ky V- L¥ LV LV LF L ¥ L¥F &)

4 Pcs.

3) M6X16 4 Pcs.

4) 1 Pcs.

5) 1 Pcs.

6) M8 2 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 11



E —H:(-—-- (H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschréanke

I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
MONTAGEPLATTE MONTAGE REV. NO 01
MOUNTING PLATE ASSEMBLING DATE 03/2021

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 12



3 TI:(-—-.I(H\IN FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- et FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO

FX-M-002

MONTAGEPLATTE MONTAGE

REV. NO

01

DATE

03/2021

MOUNTING PLATE ASSEMBLING

HINWEIS: MONTAGETEILE WERDEN SEPARAT IN ORANGENEM KARTON GELIEFERT
NOTE: ASSEMBLING PARTS PACKED AND DELIVERED SEPERATELY IN ORANGE BOX

P

Q

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

1) 2 Pcs.

’ 2) M8X30 2 Pcs.
<
f

FE-GON-XL

13




FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke

E Tr(_C}N FE-GON-XL ASSEMBLING INSTRUCTION f. indivi i

- - - . individual baying enclosures
DOC. NO FX-M-002

MONTAGEPLATTE MONTAGE REV. NO 01

MOUNTING PLATE ASSEMBLING DATE 03/2021

HINWEIS: MONTAGETEILE WERDEN SEPARAT IN ORANGENEM KARTON GELIEFERT
NOTE: ASSEMBLING PARTS PACKED AND DELIVERED SEPERATELY IN ORANGE BOX

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 14




] —H:(-—-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
MONTAGEPLATTE KURZ MONTAGE REV. NO 01
SHORT MOUNTING PLATE ASSEMBLING DATE 03/2021

1) 2 Pcs.

2) 4 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 15



] —H:(F (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
= Tt FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
RUCKWAND MONTAGE REV. NO 01
REAR PANEL ASSEMBLING DATE 03/2021

HINTEN
REAR SIDE

| HINTEN
| REARSIDE

i W

1) M6X23 8 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 16



3 —H:C ()N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
A\

TUR RICHTUNGSWECHSEL
DOOR CHANGE DIRECTION

. GGF. AUCH UMBAU ROLLE BEACHTEN
% CHANGE ALSO ROLL IF NEEDED

\

| RECHTS

\ HT
LINKS | e
LEFT \

U

;

<

QE‘DQ
o7 e £

i
)

FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
REV. NO 01
DATE 03/2021

RECHTS
RIGHT

e

o

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

FE-GON-XL 17




E —H:(-—-- (H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschréanke

FX-M-002

01

I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO
SEITENWAND MONTAGE REV. NO
SIDE PANEL ASSEMBLING DATE

03/2021

TIEFE
DEPTH

W 1) M6X23 16 Pcs.

Q}’” 2) M5X26 -

400-500-600

TIEFE
DEPTH

800

16 Pcs.

1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL

18




E —H:(-—-- (H\'N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschréanke

I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
ANREIH-VERBINDUNGSSET REV. NO o1
BAYING SYSTEM DATE 03/2021

1) 56 m. 1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 19



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

ON

G

ANREIH-VERBINDUNGSSET

BAYING SYSTEM

FX-M-002

01

03/2021

DOC. NO

REV. NO

DATE

2) M8 2 Pcs.
3) M8x16 2 Pcs,

s

&

4 Pcs.

4) M8

5) M5x10 4 Pes.

4 Pcs,

6) M3

20

FE-GON-XL

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

= TEGON
ANREIH-VERBINDUNGSSET

BAYING SYSTEM

FX-M-002

01

03/2021

DOC. NO

REV. NO

DATE

REMOWE CONFLICTING
SCREWS FIRST

_\_/,_.\..x_
2 )

\

A

Fnd ol
S

P
& &

o

KOLLIDIERENDE SCHRAUBEN
VORHER ENTFERNEN

7 W e

o)
/T\‘._

S

4 Pcs.

16 Pcs.

2) M5

3) M5x10 16 Pcs.

8 Pcs.

4) M6

5) Méx16 8 Pcs.

21

FE-GON-XL

- 27367 Sottrum - www.tegon.de

- Hertzstr. 3

TEGON GmbH & Co. KG



} TI:,——-.I(H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
ANREIH-VERBINDUNGSSET REV. NO 01
BAYING SYSTEM

DATE

03/2021

Aa@a@aﬂgaé\

faa

\

AeBeBemen

A | 4 Pcs.
/ ) cs

2) M5x10 16 Pcs.

3) M5 16 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 22



E —H:(-—-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
Tt FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
ANREIH-VERBINDUNGSSET REV. NO 01
BAYING SYSTEM DATE 03/2021

1) 2 Pes.

2) M12x30 4 Pcs.

3) M12 4 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 23



] —H:(-—-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- g L FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
NIVELLIERFUR REV. NO o1
LEVELING FEET DATE 03/2021

KABELABFANGSCHIENE
CABLE CLAMP RAIL

1) 1 Pcs.
2) M5 2 Pcs.

3) M5x10 2 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 24



] —H:(-—-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- I FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
MOOSGUMMI KABELEINFUHRUNG REV. NO 01
FOAM CABLE ENTRY DATE 03/2021

2 Pcs.

@) 2) M5x10 6 Pcs.

/ 3) 2 Pcs.

BURSTEN KABELEINFUHRUNG
BRUSHED CABLE ENTRY

2 Pcs.

\T’3>
~— @? 2) M5x10 6 Pcs.
3) 2 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 25



E TI:(-—-.I(H\IN FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
et FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
ANREIH-ZWISCHENMONTAGEPLATTE REV. NO 01
INTERMEDIATE MOUNTING PLATE DATE 03/2021

I/"z'\,

o =

:'/]-\‘.\.,_ s 3 % 1) M6 1 Pcs.
- ] €. 2) M8 2 Pcs.

N’ a g

6 Pcs.

2) M8x30 6 Pcs.

3) M6éx25 3 Pcs.

1 Pcs.

Nl

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 26




FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschréanke

: —~
E Tr\ - '\-’IN FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
KABELTRAVERSE fur TUR REV. NO 01
CABLE TRAY DOOR RAIL DATE 03/2021
1) 1 Pcs.
2) M5 2 Pcs.

SCHALTPLANTASCHE
PLAN POCKET

@ 3) M5x10 4 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

3) M5x10 2 Pcs.

1) 1 Pcs.

2) M5 4 Pcs.

FE-GON-XL 27




J —H:C (—\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- AN FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
LAMPENSCHIENE und LAMPE REV. NO 01
LAMP HOLDER RAIL and LAMP DATE 03/2021

1) 1 Pcs.

€ 2) M5x10 4 Pcs.

(LAMPE KANN JE NACH BESTELLUNG VARIIEREN)

(LAMP MAY WARY DEPENDING ON ORDER)

3) 1 Pcs.

W 4) M5x10 2 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 28



a —H:(-—-i(q 'N FE-GON-XL MONTAGEANLEITUNG f. in(.zlivi-d.uelle An.reihschrénke
- g FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures
DOC. NO FX-M-002
TURSCHALTER und HALTEWINKEL REV. NO 01
DOOR SWITCH and SWITCH BRACKET DATE 03/2021

|

s B

@
eOoOeCeOeOabd(
]

]ﬂ-'ﬂﬂﬂaﬂtlﬂf‘nﬂ;ﬂog.ag 3
P.-.-.-.-.-.-.-.-.-

C)f '

/

1 Pcs.

@ 2) M5x10 2 Pcs.

R
=)

0
S °
P Rl
| \..__/ - D &
ll. /F\/f” 1 L E
Y deod ' i
(5)—— :

N o)

e,

% 3) 1 Pcs.

G/ 4) M4x35 2 Pcs.

® 5) M4 2 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 29



E TI:(-—-.I(H\IN FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
et FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
TRAVERSENWINKEL STANDARD und INNENTRAVERSEN REV. NO 01
RAIL BRACKET STANDARD and SCISSILE RAIL SYSTEM DATE 03/2021

}

50 BN 0 55 0 BE § ©5 0 55 © w3
osfle

Mellele

f

i

v

§

W 1) M5x10 6 Pcs.

&

Fida

s

#_i_fl' —'...,.

2 Pcs.

- S
; L2

i

il

1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 30



H TEGON FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
: i FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
TRAVERSENWINKEL STANDARD REV. NO 01
RAIL BRACKET STANDARD DATE 03/2021

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 31



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

P T
\ '(__)’I

TRAVERSENWINKEL QUERVERSTELLBAR "TYPE T"

ADJUSTABLE RAIL BRACKET "TYPE T"

FX-M-002

01

03/2021

DOC. NO

REV. NO

DATE

12 Pcs.

1) M5x10

2 Pcs.

2)

1 Pcs.

32

FE-GON-XL

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de



] —H:(F_-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- A FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
TRAVERSENWINKEL TIEFENVERSTELLBAR "TYPE L™ REV. NO 01
ADJUSTABLE RAIL BRACKET "TYPE L" DATE 03/2021

' Lt
Dol Oelre il lfe 0,

g 1) M5x10 8 Pcs.

2) 2 Pcs.,

3) 1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 33



] TEGON

SCHWERLASTTRAVERSE
HEAVY EQUIPMENT PROFILE

(ﬁy 1) M8x40 2 Pcs.

@ 2) M8 4 Pcs.
@‘, 3) M8 2 Pcs.

& o

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum

J

(2

\

L

| (—\'I
NS

{

Vo
Yo

()

Seagl

N
LS

@)

()

FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO

FX-M-002

REV. NO

01

DATE

03/2021

@) 1) M8x40 2 Pcs.

@ 2) M8 4 Pcs.
Y 3) M8 2 Pcs.
1 Pcs.

- www.tegon.de FE-GON-XL

34




] —H:(F_-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- A FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
SCHOTTWAND REV. NO 01
DIVIDING PANEL DATE 03/2021
1) 1Pc.
2) 12 Pcs.

3) M5x10 24 Pcs,

4) 12 Pcs.

\4/ ./ xSJ
@? 5) M6x20 12 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 35



] —H:(F (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
= Tt FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
TEILMONTAGEPLATTE REV. NO 01
PARTIAL MOUNTING PLATE DATE 03/2021

4 Pcs.

W 2) M5x10 12 Pcs.

3) 1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 36



J —H:C (—\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- AN FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

19” PROFILTRAVERSEN
19” COMBINATION PROFILES

®

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

DOC. NO

FX-M-002

REV. NO

01

DATE

03/2021

4

HeDeleleeiNeNeleilee
EESEEF OIS ET ACT A CE SO aCTaETE AT #

%

4 Pcs.

2) M8X15 24 Pcs.

3) M8X30 24 Pcs.

4) M8X30 24 Pcs.

FE-GON-XL

37




3 —H:(H —\|\| FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- AN FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
19 PROFILTRAVERSEN REV. NO 01
19” COMBINATION PROFILES DATE 03/2021
P

-l A A A A B = A B = B = A =
i s @ s sy

‘v\;'

/A:DEDDUEUQDEE u EEDDDDD'D'D'D\

4 Pcs.

M8X15 24 Pcs.

M8X30 24 Pcs.

6) M5x10 24 Pcs.

@ 5) M8X30 24 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 38



] —H:(F_-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- A FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
19’ SCHWENKRAHMEN REV. NO 01
19” SWING FRAME DATE 03/2021

2) M5 27 Pcs.

3) 2 Pcs.
4) 4 Pcs.
5) 1 Pcs.
6) 2 Pcs.
7) 1 Pcs.

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 39



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

P T
\ '(__)’I

1 TEG

FX-M-002

01

03/2021

DOC. NO

REV. NO

DATE

FACHBODEN und SCHUBLADE
FIXED and MOVABLE SHELF

4 Pcs.

1) M5x10

4 Pcs.

FeoToTolTeoTo T T

___G"nuu.ﬁu%uﬁﬂﬁ"‘_@k

q

8 Pcs.

3) M5x10

&

8 Pcs.

4) M5

@

40

FE-GON-XL

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de



FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke

FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

= TEGON

FX-M-002

01

03/2021

DOC. NO

REV. NO

DATE

TURSTOPPER

DOOR STOPPER

|
|
[
|
I
=

_W.m

i
Eﬁﬂ:ﬂ:ﬂ—u—u—.—cc.—hﬂrw..ﬂh’

\
\

1 Pcs.

—
<

9 Pcs.

1 Pcs.
1 Pcs

5)
6)

7 Pcs
4 Pcs.

2) M5x10
3) M5

A%
@

41

FE-GON-XL

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de



] TEGON

HEBE- und LASTANLEITUNG

LIFTING- and LOADINGINSTRUCTION

1000 kg

Vi

1000 kg

g p—

1000 kg

500 kg

Vi

500 kg

"

q' MIN e

FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO

FX-M-002

REV. NO

01

DATE

03/2021

2000 kg

1000 kg

N

IDEAL

=
= 45°

1000 kg

60°

2000 kg

500 kg

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de

1000 kg

FE-GON-XL

500 kg

42




] —H:(F_-. (H\N FE-GON-XL MONTAGEANLEITUNG f. individuelle Anreihschranke
- A FE-GON-XL ASSEMBLING INSTRUCTION f. individual baying enclosures

DOC. NO FX-M-002
HEBE- und LASTANLEITUNG REV. NO 01
LIFTING- and LOADINGINSTRUCTION DATE 03/2021

ﬁ 1000 kg
1000 kg
1000 kg
1000 kg =
1000 kg . ——
80 kg
N

|

/

>800 90kg
<800 110 kg

[ 5]D

>800 90k ;
<800 110 kg S0 kg 500 kg
(100 kg MIT ABFANGROLLE)
= ~  WITH SUPPORT ROLL) M)

TEGON GmbH & Co. KG - Hertzstr. 3 - 27367 Sottrum - www.tegon.de FE-GON-XL 43



	Sheet1
	FX Montage indiv. Schraenke Inhaltsverz. GER_ENG.pdf
	Sheet1


